A

T c—

E 0 & AHE E A A

20238 =0ila eI EatatAME
A SeHEE
N St MYEEdEE Y
TP 2REHXARAIL (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
EstatgMett 14,193,350 10,601,331 3,592,019
= 45,000
Al 14,148,350
e =atAE e gty 13,458,324 9,5%,605 3,862,719
== 45,000
Al 13,413,324
S2HEHALRA 13,258,324 9,066,294 4,192,030
< 45,000
Al 13,213,324
st=oistddaEd X2 10,329,724 6,387,903 3,941,821
306 £= 10,329,724 6,387,903 3,941,821
01 9= 10,329,724 6,387,903 3,941,821
OBt20I3l MRS 2
7,739,724,000& 7,730,724
OFd=Het=t=A 610,000,000& 610,000
OUESESHE 22|
1,980,000,000& 1,980,000
SE=MOHLIGIOI & HIAEIE 1,301,000 1,100,000 201,000
307 lztol & 1,301,000 1,100,000 201,000
03 2IIHHEE2SHIEx 443,000 365,680 87,320
OFE=MOLIGIOIGHAEIE 2&
443,000,000 443,000
04 QIZHHAMAIH 2 £ 858,000 744,320 113,680
OSH=MOLIGIOI & HAEIE JH =l
858,000,000 858,000
grstofLI2EI = X3 369,000 317,791 51,209
307 elztol & 369,000 317,791 51,209
02 LB HAHE L 369,000 317,791 51,209
OAEAEIEY & OIUXA
190,000,000 190,000
OofLItiold &ty 5o & OIS
179,000,000 179,000
ghetEE = AP 1,006,600 1,158,600 /152,000
201 =3 800 152,800 /152,000
01 At22t2l] 800 162,800 A152,000
ORI HLS=H YK SAH|
000 *50E * 13l 400
OFH=ZMONLINIOISHAEIE HIXE 2
Al 8,000 50 *13] 400
203 HR=AY] 5,800 5,800
03 A=A PR FZ| 5,800 5,800
Ottshitgdsd LA 5,800,000& 5,800
307 212+01& 1,000,000 1,000,000
02 LB HANHE L 1,000,000 1,000,000




od
i’
oF
uJ

~ oM
o] K
0
o <
L_wuu .mm_ Rr
alr <J KD
&) K| K]
ol T T
<J M) M
07 o7 0}
0K 0K OH

|.IA—P__.I
I+ &0

X XH
&t

il el e Il S 8 S — === 888|818 RISI8|8|8
S S S ||| ==|=|2|S ST 8y
A g |8 |8 glglsls |gg|g8]8 <] |E
E <4< 1< <
E=)
slgle |glgle |° [° ° A EEEEREEEBEENEEEEE
NI AP IS NS o |~ ||
e glg|e 8|88(8 8|88 Z|Z|S|B|8
il
RIS
818818 2818188 818 8 8|18 8 8|8 S 8 38818188 ss88188]|8 slgleIelsls S 3
SlSlsla S|S|S|le S| S g|g S S|e S S glglslsla Sig|g|g|ale g|e|u|x|f|Y &
[aNIN B QNN eV [aV) Ye) Lo K0 v IO WQ Lo
SAEIEIERE seg8lgegls 38¢8gE88 g|3(%3|88 8|B|E|g|EE © 8
al —
<
S
H=| W= H =
Gl o o o o o e
S 8 S 8 8 8 ¥
S S S S S S 0
o
o | & g g g g g ¢
5 | & g ~ 2 g 2 w0k
| - e
= I}
S HE . 2 R i x
¥ - Rl 0 = =0 _ __Aw B
- ]X o K Kd m T80 < ol 0H D
= |« oF R0 o ] o =< - I
. <l 31 o ok 31 |MH K =< 0
== lal | 2 _ @ g S EE S ml| o
= |l# |o = 2 Ki G ar <z | D OF ol <
il B S KoKy [RO Kt T B i VY P Y ul R U
= |l |z iy o K- sy | N = ) ROl | | X0 - N B oT
oF oo ol B S b &o Al g |22 T Kol 2 Bl=|_|_ m  w
| = =M™ |z|z|30 il < o 3 Wwis T (|, % (23 T (w2
K N = = DAl = =T R 7 20 HWlzimw @ [5[X|™|s0|5 @ |+ Uiz lm ™ ™
= | |<I|S|B M |3 |kH|k = > g0 U ol (& ou|m OO Eﬂﬂ%%% rAl_Mu%m_Al_ <l
O LR el Y Y I o o R R Y <lirn ¥ [J|¥zz|x®W [(B2|¥ 2D, D
RO |zlalla @ |a|a|< B |OF o) 5 R wlw (R0 ® |25 a|on|® & (B K |m|o|x Okao Ok
O s O |z|le|le O |¢ B y O Zlw|g(= O [Blalw|zs|g © [Y0ar|<lls|ls © O
z 5|3 Jls|o bl S o < R s |+ = | ol _ oo
~|[® o] | N ~ ™ c.w___%oo EHE:Z <(m|T (N
I+ R0 oH 80 o1 | R |01 | a0 L4 | oF | OF
3l Ky | oH ol | =
() R0




2A:

M HOTAl ot A=
ol Hegs ML 25 (CHol: &S1)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—ZSHEOITAl & M
200,000 *807H 2 16,000
—cEH € ESNT A
2,0002 1,000+ 10,000
—8UE0M M 5,000&+1,000% 5,000
—HS, WE, 2| 2,250,000 2,250
Ogt=2s HAX A 11,000
—EE 2 XL EN KA
8,000,000& 8,000
—pioiz 3,000, 0002 3,000
OR# AE2(2Y 0PHHD 2
6,000,000 6,000
03 A2 I 48,000 32,500 15,500
OsUIAZR OIFRIDIE 2o Al 29
10,000,000 10,000
ORHAXIEAl ZILHAL 2S
5,000,000& 5,000
ORUIAR HEAZAl =M RIAIY =& 23,000
—S2HINZH 10,000,000 10,000
—=UAZD AASH & 23|
8,000,000& 8,000
—RUAD FOATAl ESAY 2]
5,000,000 5,000
O=d AECI2E OOl #AL2E
10,000,000 10,000
202 04| 20,000 20,000
03 =220l 20,000 20,000
SUIAD BOITAl 01289 EA0I 20,000
~SUAD BATA HEAT S8
4,000,000 »3& 12,000
—2UAD oL Al 2820k Azl
4,000,000& ~2H 8,000
203 g2l 1,800 1,800
03 AIF&IH 2= 1,800 1,800
OSUIAR ZOTA UIEST 2z
1,800,000 1,800
301 Et2 &= 113,560 104,500 9,060
08 @I2tI=2| (4 H| 8,000 8,000 0
OFUIAR H2AZAl HeflS2 HA04]
4,000,000 »2&H 8,000
09 I =30 29,500 17,000 12,500
OR&HAIXNEA 2& 19,000
—=& It g3 3,500,000 «2H 7,000
—=F At =E
100,000 x2H +60 12,000
ORd=NZY 29 10,500




2A:

M HOTAl Qe 25
s UHRIEE AHIA 2st (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—=FY g8 3,500,000 x2H 7,000
— X2l =8 250,000 x2H+58¢ 2,500
—XF QI8 Al 50,0003 x2& 104! 1,000
14 JIEt2 4= 76,060 79,500 A3,440
Os=2st HoTRMY M0} /DS
500,000 x2H 1,000
OR&EdXEAl 24 4,000
—SHAKEAl ZHIF AL Atellb]
500,000 x2EH *13] 1,000
—SHYTSA Z0F HE M X2
25,0003 238 60! 3,000
ORA=HEH Ateilb] 350,000& 10 3,500
OFd AEc|Ed 0BtHI0l 28 67,560
— A== 490,000« 1222112 64,680
—S&Z= 1,000,000 *22] 2,000
—=YEX =€ 10,0003 x2 »445= 880
307 elztol & 111,000 111,000
04 QIZHHAMAMH 2 & 111,000 111,000
Oug &K ZZ2HE
85,000,000& 85,000
Od= 1S 010|102
26,000,000 26,000
ClOtAECH2StA =& 298,000 298,900 A900
201 Ler23 | 171,500 164,400 7,100
01 At2t2ltl 101,500 94,400 7,100
020234 (M3%]) =2sta 29 63,900
—=2g?az =4 100,000 *7 & x22| 1,400
—AARIRE 42 2 EHTY
34,500,000& 34,500
—E24 ¥ 29H| 28,000,000 28,000
O20244 (M43]) 2sta 29 37,600
—2g89da ¢ 100, 0003 »7 & *43] 2,800
—=dfds =4 & =AY
22,800,000& 22,800
—E24 ¥ 29H| 12,000,000 12,000
03 A= &I 70,000 70,000 0
020234 (M3%]) 28tar Ala
70,000,000& 70,000
301 LEetE N = 126,500 134,500 /8,000
2BI=FH 0| 61,500 69,500 A8,000
02023 (MI32l) =5td 29 61,500
—ZEUE g8 5,000,000& 10 50,000
—ZEUY o)
250,000 x10E »3&+ 7,500




od
i’
oF
uJ

o o olololo ololele|e o ole olo
QO | O | O | Q| 0O |00 |00 |0
- o |5 |5 |es | 5|5 |es|es
Eo <[44
E
F=)
S 3 HBEE clelelgle 8 1B E
S S NS |8 = S| 3|5
’ K 2 55| 5|5 | 3 4| @ 3 |3
ol
uifed
RIS
S 8 S8 8 8 8|1LL|e|e wmwm%&mww 8 & & 8|18 RISIE 8
o O O O O O O|m|oo || O[T | T | |0 |~ © o @ — — Ol |® DO |©O© ©
S5 O gggo|s|slels olglglalals s es -6 S|glg Qo e
al
d
=]
g © oo 2 2g ¥ BB al | @
5 g ) 5 Py 0% 85 y 5
o |3 S S 8 o nHn oW gw il o
n |® ¥ = 8 Ty 8 — 8 2 g
m |8 S 8 w RS = o S
= S o 5 g8 -~ o g =
a | 3l g 3 &
- _ 00 k=) =
< D no _ ar
u_l = <0 ol o0
= = = <l o
. - " < o
= mm mm 30 > |z al 5 D
= < a1 GO — = _ — T I
CH ERTS Eom| |= ol |& = - =5 2 Fa
= | N = =~ 0 20 =0 ok 7 — 70 < w3
oF oM o o =y — 2 N T 3 % = M o- OF
D22 nme S nlElslzT (B S|s & 8 5o T ~ |o e 3
DIz R OB = 3lw|®lealn ko |2 sl 8 W3 m Mgl |5 R(RI|E B
= [T oA 0 op |7 ﬁ oA O 2o W oy O 7 = KE o [kF|op OH
O K v S 2 ) s R T L y|OF X o M0 OF /o RO WO | OF |oF|lx X
K I % & =~ & | I [D|lanfjz & |5 Slal|=< bk I I X fdo A0 R|Z|ir & |zm|DF It
: -0 =0 2 his|s © |R|B|R|s|5 © O g 00lyl5 0 |glzs©
X W | S 30|/ || & & S
I+ oT R ||~
RO RO~

o0




